’ -
60 ° ’ !;;:‘1:"!
—50 i : ]'
—a0 L - ®
-90 . - \
~10 1
) . :
10 " - e .
40 T
50 -
@ - 6 x(m
L ¥ \ |",;\;||1
60 g ; i
w0 >~ @
= . I
-850 5 t ' \
—20 #
—10 L ©

x(m)
60 — ®
40 / Ax ©
Of—
0~ Al
0 ©
_2{} L
®
-40 -
®
0 10 20 30 40 50
(b)

2-2 =2t ZE(v)2 =

. Ax dx

TS v=lim =,

- IAIt—rr)o] At dt
48 =) £E9) 27222




AX  dx

ex—t JHENA =& =D|2D| | =245y _||m
At—0 At dt

x (m) x (m) x (m)

400 ) 400 400
Ax=150m

300 300 300
200 200 200
100 100

5' t(s)

9|

t(s)

100

S

(a)

_ |
14 =0 G 5 x
a=0
ty g T S—
A s
t £ (') ,“—Ox
v a=0
e /]
A Ui-r ¥
0

(b)




:d(de:dX
dt\ dt ) dt?




t—-0 t
V=V, +at————(1)
t=0; x, = t=t, X
_ X—X, X—X
PBaEey="">0="""0__(2
° t—0 t (2)

(2=0) °|=

X — X 1
2=y, +-at
t 2

(42l t 2 i Ydshd
a

(v—voj 1 (v—voj2

X = X, +V, +-a

a 2 a
2a(X—Xg) =2V — 2V +V* — 2%V +V;
2

2a(X—X,) =V -V,
2aAX =V’ =V, —————— (5)




[[dv=adt=a[ dt=at

B.. A l(x) 2] Ak
(D)2l A

dx
— =V, +at
dt

dx = v,dt + (at)dt

[[ax=v, [ dt+al tt

X=X, =vot+%at2

x:x0+v0t+%at2 ————(2)

C. AN} S E(v)el B4
OAA 1=""F o 5

(v—vo) 1 (v—voj2
X=XO+V0 +—a

a 2 a

2a(X — Xg) = 2VV — 2V +V° —\ZVO\V+ V¢

2 2
2a(X—X%,) =V -V,

T LT A R — 3)




2-5 Nte4ot (g =9.8m/s?, 2&

)

t=0; v,=0, y,=0
t=t; v=2y,=7

e &= (V)=v, +at, a=—g¢
v=-9.8(m/s*)t=-9.8t (m/s?)

e AZ(y)=y, +vot+%at2
1 .
Y= Yo+t = gt~ == ~(2)

y= —%(9.8)(m/sz)t2 4.9t (m/s?)

Yy
Ot ot=0,v=0
t=10s,y=-49m
*u=—9.8 m/s
~10mf-
_'—20m-~ t=20s,y=-19.6m
;u=—19.6m/s
=30 m
-40 m |~
t=30s,y=-441m
,',uz—29.4m/s
=50'm*-







	낙하 운동 (동영상)

